FRERHRRETHE FRHR

B HI74E08/528H HRIRFEHE 308, 300kg
Hx REHEAH 247, 500kg
F&E HRFTHES TR AE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =1E B =&

EWZ A 16,000 |tV 0 — — —
A% ER 3| EHE 10kg 16,000 1,944 —1{ 1,620

ZA LA 25,000 |&Y 0 — — —
X ER 5| JiEE 10kg 25, 000 —| 2,700 —

(< &L 6,000 |t Y 0 — — —
A% ER 3| EHE 12kg 6,000( 1,944 —{ 1,404

FrRY 25,000 |&Y 0 — — —
X ER 5| BER 10kg 25,000| 1,296 — 756

F5NAZES 6,000 |t Y 0 — — —
A% ER 3| N 170g 6, 000 216 — 184

h&E 11,000 |[&Y 0 — — —
Xt ER 5| EHE bke 11,000/ 2,700 —1 1,296

25 3,000 |[€Y 0 — — —
A% ER 3| N 100 g 3,000 — 86 —

L& R 15,000 [&Y 0 — — —

Xt ER 5| EHE 10kg 15,000/ 3,780 —| 3,240

EpSY 5,000 |[€Y 0 — — —

A% ER 3| EER bkg 5, 000 —| 3,240 —
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FRERHRRETHE FRHR

B HI74E08/528H HRIRFEHE 308, 300kg
HX REHEAS 247, 500kg
F&E HRFTHES R AHE AniE FEH Zik B [BREHE HRFcE4E
(kg) (kg) =B HE ZiE

LA EL 1,000 |[&Y 0 — — —
HAXTE S| N 150 g 1,000 — 324 -
AL & 10,000 |[&Y 0 — — —
X ER 5| FHEE bke 10,000 2,808 —{ 2,160
ADEET 1,000 [&Y 0 _ __ ___
A% ER 3| REHE 200 g 1,000 76 — 65
J)—=2FRIND 2,000 (&Y 0 — - _
X ER 5| N 100 g 2,000 140 — 86
MEL 5,000 |[€Y 0 — — —
A% ER 3| N 10kg 5, 000 —| 2,700 —
H=—LA X 1,000 |[&Y 0 — — —
Xt ER 5| EHE 4kg 1,000 2,700 —{ 2,160
=N N 3,000 |[¢Y 0 — — —
A% ER 3| EER 200 g 3,000 — 280 —
E543C2L 500 |V 0 — — —
A%t ER 5| JkiEE 10kg 500 —| 4,860 —
ARED 0 |[&Y 0 — — —
A% ER 3| 0 — — —
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BIRFTHE 308, 300kg
HX ERFEEHE S 247, 500kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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BIRFTHE 308, 300kg
RR RS E A 55, 800kg
F&E ARFEHER R AHE fnig FEH Zik Bz [RFEHE IR5EE %8
(kg) (kg) =1{E HE ={E

HA 0 |gY 0 — — —
HxERE| 0 — — —

JL—77)L—Y 1,000 &Y 0 — - _
A ERE m77YUh 17ke 1,000 —| 5,940 —-

NFF 3,000 [#Y 0 — — —
At ER3| J4YUEY 13kg 3,000| 3,888 —{ 3,240

LEY 500 €Y 0 — — _
At ER B F 1) 17ke 500 —| 8,100 —-

L 30,000 |€Y 0 __ ___ ___
FExTER3| =K PN 10kg 30, 000 —| 5,400 —-

4 1,500 |&Y 0 _ ___ __
At ER B BER bkg 1,500 5,940[ 4,860 3,240

RES 6,000 &Y 0 __ ___ ___
HAXTE S| B N 300 g 6, 000 — 210 -

AQy 800 [tV 0 — — _
At ER B 7—ILR B4 1R Okg 800 —| 16,200 —-

FULVH 0 |2Y 0 _— — —
HxERE| 0 — — —




FRERHRRETHE FRHR

B HI74E08/528H HRIRFEHE 308, 300kg
K= IRFEEHESET 55, 800kg
F&E HRFTHES R AHE AniE FEH Zik B [BREHE HRFcE4E

(kg) (kg) =B HE ZiE
FLoo 1,000 |[&Y 0 — - —
A% ER 3| F—R YT 17kg 1,000 —| 8,640 —
NAVTFyTI 1,000 |&Y 0 — — —
A%t ER 5| J4UEY 10kg 1,000 —| 4,320 —
£ 4 TN—Y 1,000 |&Y 0 — — —
A% ER 3| —a1—S—35UFR 3. 5kg 1,000 —| 2,657 —
FOMER 10,000 |&A3%k —- 10, 000 — - —_
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{AERE S E 308, 300kg
Z Dt REHE AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




